
 

01. fPOs;s xt;nthU tpfpjj;jpw;Fk; %d;W rktY tpfpjq;fs; jUf.  

 2 : 5 → 2 x 2 : 5 x 2 = 4 : 10 → 6 : 15 → 8 : 20 

 I. 3 : 4  → …………… → …………….. → …………….. 

 II. 5 : 3 → …………… → …………….. → …………….. 

 III. 10 : 6 → …………… → …………….. → …………….. 

 IV. 11 : 7 → …………… → …………….. → …………….. 

 V. 13 : 15 → …………… → …………….. → …………….. 

02. gpd;tUk; tpfpjq;fis vspa tpfpjq;fshf khw;wp vOJf.  

 10 : 30 = 
  

  
    : 

  

  
 = 1 : 3 

 I. 15 : 10  = __________________ II.  100 : 150  = __________________ 

 III. 225 : 125 = __________________ IV. 200 : 1000 = __________________ 

 V. 70 : 35  = __________________ 

03. I. nrt;tf tbtj; jlhfnkhd;wpd; ePsk; 20m, mfyk; 15m vdpd; ,jd; ePs> mfyj;jpd; vspa 
 tpfpjk; ahJ? 

  _______________________________________________________________________________ 

 II. ikjhdnkhd;iwr; Rw;wp 16 ePyf; nfhbfSk; 24 kQ;rs; nfhbfSk; fl;lg;gl;bUg;gpd; ,it 
 ,uz;bdJk;> vspa tpfpjk; ahJ? 

  _______________________________________________________________________________ 

 III. xU ngd;rpypd; tpiy &. 12 vdpd; 10 ngd;rpy;fspd; tpiy ahJ? 

  _______________________________________________________________________________ 

 IV. G+g;ghj;jpnahd;wpd; ePsk; 4m, mfyk; 2m vdpd; ,jd; vspa tpfpjk; : __________________ 

04. I. 3 kzpj;jpahyj;jpy; 30km J}uk; nry;Yk; thfdnkhd;W 6 kzpj;jpahyj;jpy; vj;jid km 
 nry;Yk;? 

  _______________________________________________________________________________ 

 II. 2 Nghj;jy; ghypd; tpiy 160. &gh vdpd; 1 Nghj;jy; ghypd; tpiy ahJ? 

  _______________________________________________________________________________ 

 III. ehd;F rtu;f;fhuf; fl;bfs; 200 &gha; vdpd; 8 rtu;f;fhuf; fl;bfspd; tpiy ahJ? 

  _______________________________________________________________________________ 

 IV. 30 &gha;f;F 2 Kl;il vdpd; 120 &gha;f;F vj;jid Kl;ilfs; thq;fyhk;? 

  _______________________________________________________________________________ 


